 EQ \b(7c\s\up8(2)+2c)+\b(4c\s\up8(2)-3c-8)-\b(-c\s\up8(2)-19) =
Раскрываем скобки.

= EQ  7c\s\up8(2)+2c+4c\s\up8(2)-3c-8+c\s\up8(2)+19 =

= EQ  7c\s\up8(2)+2c+4c\s\up8(2)-3c-8+19+c\s\up8(2) =

= EQ  7c\s\up8(2)+2c+4c\s\up8(2)-3c+11+c\s\up8(2) =

Приводим подобные члены.

= EQ  12c\s\up8(2)+\b(-1)c+11 =

Выносим знак минус из произведения.

= EQ  12c\s\up8(2)-1c+11 = EQ  12c\s\up8(2)-c+11 
 EQ \b(x+y-a)-\b(x-y)+\b(x-y+a) =

Раскрываем скобки.

= EQ  x+y-a-x+y+x-y+a =

= EQ  x+y-a-x+y+x-y+a =

Производим сокращение.

= EQ  y+x =

Изменяем порядок действий.

= EQ  x+y 
